268 1,14 (20) 839.75 GB) 4.321 x 4 = (4)7664780 =  Gr 4 p.27

42 2/14 - 691.08 =
64 6/14
@ Draw two parallel lines.

@ How many angles are in this figure? A

N M
DAY 138
(T) 6.4 + 8.648 + .0468 = @) 13 1,4 €D 7.72)(.@18 13960
-8 1,4 x 5 :
@ How many objects are
there in 108 dozen? How many angles are in this figure? Name them.
A
DAY 139
6 4/8 + (20 89.89 - 78.68 = G2) 8392 1752/6
10 2/8 + x 46
1 1/8 = ,
@ What time does the clock show?
How many angles are in this figqure?
DAY 140
1.) 046.0 + (:i) 16 7/8 3.) .2 x .003 = . 5/8 £2/4 =
0_146.42 + - 5 1/16 C) Q
- 14.06 =

@There are 16 snozes in a clump. How many snozes are there in 32 clumps?

i /‘ l> + ¢ % 4 \ /L ]
@ Which of these are \D E A M F G/ \R S’
lines? g
DAY 141
@) 10/31 + 5/31 + 15/31 = @ 169 GO 0.463 @) 63.)3879
- 54.7 X .6

@ Which of the following numbers can be evenly divided by both 3 and 42
' l6, 24, 30, 32, 15, 12

Name the endpoints of this segment. X. . 4
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